ns7= RL i= 3.3
R2 := 985
R3 := 901
si gma 1= 11.000
sigmaR2 :=11. 000
sigmaRl : = 3.3x0.05

ne3r= Si gmaRl
oue3z= 0. 165

mear= U 1= 2.01
sigmaU : = 0.022

meel= Rg = 1/ (1/RL+1/R3)
outjeel= 3. 28796

_ 1 1)y7? sigmaR1}2 [(signmaR3)?
7= Si gmaRg = [— + —] ( ] + [ ]
R1 R3 RlZ R32
oue7= 0. 163798
U

Rg + R2
outesl= 0. 00203382

nesl= 1Qg =

_ sigmaR2 UY? (sigmaRgU)\? (sigmaU)?
o= Sigmal g = [ J + [ J . [ ]
(R2 +Rg)? (R2 +Rg)? R2 + Rg
oueg= 0. 0000317505
Integratorstrom
g
R3
(m+1)

ouiro- 7. 42188 x 10°°

mop= lint =

In[71]:=
. 2 . 2 . 2
] ) | g R3si gnaRl | g si gmaR3 sigmal g
inf72)= Sigmalint = . + . + p
2 (R3 R3 R3
R1 (E+1) Rl(E+1) Rl+1

ou72- 3. 97848 x 1077
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